



Research article

Time-adaptive Lagrangian variational integrators for accelerated optimization

Valentin Duruisseaux and Melvin Leok*

Department of Mathematics, University of California San Diego, La Jolla, CA 92093, USA

* **Correspondence:** Email: mleok@ucsd.edu.

Appendix

A. Proof of Theorem 3.2

Theorem A.1. *The Type I discrete Hamilton’s variational principle,*

$$\delta \tilde{\mathcal{E}}_d \left(\{ (q_k, \mathfrak{q}_k, \lambda_k) \}_{k=0}^N \right) = 0,$$

where,

$$\tilde{\mathcal{E}}_d \left(\{ (q_k, \mathfrak{q}_k, \lambda_k) \}_{k=0}^N \right) = \sum_{k=0}^{N-1} \left[L_d(q_k, \mathfrak{q}_k, q_{k+1}, \mathfrak{q}_{k+1}) - \lambda_k \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} + \lambda_k g(\mathfrak{q}_k) \right] \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k},$$

is equivalent to the discrete extended Euler–Lagrange equations,

$$q_{k+1} = q_k + (\tau_{k+1} - \tau_k)g(\mathfrak{q}_k),$$

$$\frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} D_1 L_d(q_k, \mathfrak{q}_k, q_{k+1}, \mathfrak{q}_{k+1}) + \frac{q_k - q_{k-1}}{\tau_k - \tau_{k-1}} D_3 L_d(q_{k-1}, \mathfrak{q}_{k-1}, q_k, \mathfrak{q}_k) = 0,$$

$$\begin{aligned} & \left[D_2 L_{d_k} + \lambda_k \frac{1}{\tau_{k+1} - \tau_k} + \lambda_k \nabla g(\mathfrak{q}_k) \right] \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} - \frac{1}{\tau_{k+1} - \tau_k} \left[L_{d_k} - \lambda_k \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} + \lambda_k g(\mathfrak{q}_k) \right] \\ & + \left[D_4 L_{d_{k-1}} - \lambda_{k-1} \frac{1}{\tau_k - \tau_{k-1}} \right] \frac{q_k - q_{k-1}}{\tau_k - \tau_{k-1}} + \frac{1}{\tau_k - \tau_{k-1}} \left[L_{d_{k-1}} - \lambda_{k-1} \frac{q_k - q_{k-1}}{\tau_k - \tau_{k-1}} + \lambda_{k-1} g(\mathfrak{q}_{k-1}) \right] = 0, \end{aligned}$$

where L_{d_k} denotes $L_d(q_k, \mathfrak{q}_k, q_{k+1}, \mathfrak{q}_{k+1})$.

Proof. We use the notation $L_{d_k} = L_d(q_k, q_k, q_{k+1}, q_{k+1})$, and we will use the fact that

$$\delta q_0 = \delta q_N = \delta q_0 = \delta q_N = 0$$

throughout the proof. We have

$$\begin{aligned} \delta \tilde{\mathfrak{E}}_d &= \delta \left(\sum_{k=0}^{N-1} \left[L_d(q_k, q_k, q_{k+1}, q_{k+1}) - \lambda_k \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} + \lambda_k g(q_k) \right] \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} \right) \\ &= \sum_{k=1}^{N-1} \left[D_2 L_{d_k} + \lambda_k \frac{1}{\tau_{k+1} - \tau_k} + \lambda_k \nabla g(q_k) \right] \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} \delta q_k \\ &\quad - \sum_{k=1}^{N-1} \frac{1}{\tau_{k+1} - \tau_k} \left[L_{d_k} - \lambda_k \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} + \lambda_k g(q_k) \right] \delta q_k \\ &\quad + \sum_{k=0}^{N-2} \left[D_4 L_{d_k} - \lambda_k \frac{1}{\tau_{k+1} - \tau_k} \right] \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} \delta q_{k+1} \\ &\quad + \sum_{k=0}^{N-2} \frac{1}{\tau_{k+1} - \tau_k} \left[L_{d_k} - \lambda_k \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} + \lambda_k g(q_k) \right] \delta q_{k+1} \\ &\quad + \sum_{k=1}^{N-1} \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} D_1 L_{d_k} \delta q_k \\ &\quad + \sum_{k=0}^{N-2} \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} D_3 L_{d_k} \delta q_{k+1} + \sum_{k=0}^{N-1} \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} \left(g(q_k) - \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} \right) \delta \lambda_k. \end{aligned}$$

Thus,

$$\begin{aligned} \delta \tilde{\mathfrak{E}}_d &= \sum_{k=1}^{N-1} \left[D_2 L_{d_k} + \lambda_k \frac{1}{\tau_{k+1} - \tau_k} + \lambda_k \nabla g(q_k) \right] \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} \delta q_k \\ &\quad - \sum_{k=1}^{N-1} \frac{1}{\tau_{k+1} - \tau_k} \left[L_{d_k} - \lambda_k \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} + \lambda_k g(q_k) \right] \delta q_k \\ &\quad + \sum_{k=1}^{N-1} \left[D_4 L_{d_{k-1}} - \lambda_{k-1} \frac{1}{\tau_k - \tau_{k-1}} \right] \frac{q_k - q_{k-1}}{\tau_k - \tau_{k-1}} \delta q_k \\ &\quad + \sum_{k=1}^{N-1} \frac{1}{\tau_k - \tau_{k-1}} \left[L_{d_{k-1}} - \lambda_{k-1} \frac{q_k - q_{k-1}}{\tau_k - \tau_{k-1}} + \lambda_{k-1} g(q_{k-1}) \right] \delta q_k \\ &\quad + \sum_{k=1}^{N-1} \left[\frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} D_1 L_{d_k} + \frac{q_k - q_{k-1}}{\tau_k - \tau_{k-1}} D_3 L_{d_{k-1}} \right] \delta q_k \\ &\quad + \sum_{k=0}^{N-1} \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} \left(g(q_k) - \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} \right) \delta \lambda_k. \end{aligned}$$

As a consequence, if

$$\begin{aligned} q_{k+1} &= q_k + (\tau_{k+1} - \tau_k) g(q_k), \\ \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} D_1 L_d(q_k, q_k, q_{k+1}, q_{k+1}) + \frac{q_k - q_{k-1}}{\tau_k - \tau_{k-1}} D_3 L_d(q_{k-1}, q_{k-1}, q_k, q_k) &= 0, \\ \left[D_2 L_{d_k} + \lambda_k \frac{1}{\tau_{k+1} - \tau_k} + \lambda_k \nabla g(q_k) \right] \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} - \frac{1}{\tau_{k+1} - \tau_k} \left[L_{d_k} - \lambda_k \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} + \lambda_k g(q_k) \right] \\ &+ \left[D_4 L_{d_{k-1}} - \lambda_{k-1} \frac{1}{\tau_k - \tau_{k-1}} \right] \frac{q_k - q_{k-1}}{\tau_k - \tau_{k-1}} + \frac{1}{\tau_k - \tau_{k-1}} \left[L_{d_{k-1}} - \lambda_{k-1} \frac{q_k - q_{k-1}}{\tau_k - \tau_{k-1}} + \lambda_{k-1} g(q_{k-1}) \right] = 0, \end{aligned}$$

then $\delta \tilde{\mathfrak{E}}_d(\{(q_k, q_k, \lambda_k)\}_{k=0}^N) = 0$. Conversely, if $\delta \tilde{\mathfrak{E}}_d(\{(q_k, q_k, \lambda_k)\}_{k=0}^N) = 0$, then a discrete fundamental theorem of the calculus of variations yields the above equations. \square

B. Proof of Theorem 3.4

Theorem B.1. *The Type I discrete Hamilton's variational principle,*

$$\delta \bar{\mathfrak{E}}_d \left(\{(q_k, \mathfrak{q}_k, \lambda_k)\}_{k=0}^N \right) = 0,$$

where,

$$\bar{\mathfrak{E}}_d \left(\{(q_k, \mathfrak{q}_k, \lambda_k)\}_{k=0}^N \right) = \sum_{k=0}^{N-1} \left\{ \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} [L_d(q_k, \mathfrak{q}_k, q_{k+1}, \mathfrak{q}_{k+1}) - \lambda_k] + \lambda_k g(\mathfrak{q}_k) \right\},$$

is equivalent to the discrete extended Euler–Lagrange equations,

$$\mathfrak{q}_{k+1} = \mathfrak{q}_k + (\tau_{k+1} - \tau_k)g(\mathfrak{q}_k),$$

$$\frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} D_1 L_d(q_k, \mathfrak{q}_k, q_{k+1}, \mathfrak{q}_{k+1}) + \frac{q_k - q_{k-1}}{\tau_k - \tau_{k-1}} D_3 L_d(q_{k-1}, \mathfrak{q}_{k-1}, q_k, \mathfrak{q}_k) = 0,$$

$$\frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} D_2 L_{d_k} - \frac{1}{\tau_{k+1} - \tau_k} L_{d_k} + \frac{q_k - q_{k-1}}{\tau_k - \tau_{k-1}} D_4 L_{d_{k-1}} + \frac{1}{\tau_k - \tau_{k-1}} L_{d_{k-1}} = \frac{\lambda_{k-1}}{\tau_k - \tau_{k-1}} - \frac{\lambda_k}{\tau_{k+1} - \tau_k} - \lambda_k \nabla g(\mathfrak{q}_k),$$

where L_{d_k} denotes $L_d(q_k, \mathfrak{q}_k, q_{k+1}, \mathfrak{q}_{k+1})$.

Proof. We use the notation $L_{d_k} = L_d(q_k, \mathfrak{q}_k, q_{k+1}, \mathfrak{q}_{k+1})$, and we will use the fact that

$$\delta q_0 = \delta q_N = \delta \mathfrak{q}_0 = \delta \mathfrak{q}_N = 0$$

throughout the proof. We have

$$\begin{aligned} \delta \bar{\mathfrak{E}}_d &= \delta \left(\sum_{k=0}^{N-1} \left\{ \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} [L_d(q_k, \mathfrak{q}_k, q_{k+1}, \mathfrak{q}_{k+1}) - \lambda_k] + \lambda_k g(\mathfrak{q}_k) \right\} \right) \\ &= \sum_{k=1}^{N-1} \left[\frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} D_2 L_{d_k} - \frac{1}{\tau_{k+1} - \tau_k} L_{d_k} + \frac{\lambda_k}{\tau_{k+1} - \tau_k} + \lambda_k \nabla g(\mathfrak{q}_k) \right] \delta \mathfrak{q}_k \\ &\quad + \sum_{k=0}^{N-2} \left[\frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} D_4 L_{d_k} + \frac{1}{\tau_{k+1} - \tau_k} L_{d_k} - \frac{\lambda_k}{\tau_{k+1} - \tau_k} \right] \delta \mathfrak{q}_{k+1} \\ &\quad + \sum_{k=1}^{N-1} \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} D_1 L_{d_k} \delta q_k + \sum_{k=0}^{N-2} \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} D_3 L_{d_k} \delta q_{k+1} \\ &\quad + \sum_{k=0}^{N-1} \left(g(\mathfrak{q}_k) - \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} \right) \delta \lambda_k. \end{aligned}$$

Thus,

$$\begin{aligned} \delta \bar{\mathfrak{E}}_d &= \sum_{k=1}^{N-1} \left[\frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} D_2 L_{d_k} - \frac{1}{\tau_{k+1} - \tau_k} L_{d_k} + \frac{\lambda_k}{\tau_{k+1} - \tau_k} + \lambda_k \nabla g(\mathfrak{q}_k) \right] \delta \mathfrak{q}_k \\ &\quad + \sum_{k=1}^{N-1} \left[\frac{q_k - q_{k-1}}{\tau_k - \tau_{k-1}} D_4 L_{d_{k-1}} + \frac{1}{\tau_k - \tau_{k-1}} L_{d_{k-1}} - \frac{\lambda_{k-1}}{\tau_k - \tau_{k-1}} \right] \delta \mathfrak{q}_k \\ &\quad + \sum_{k=1}^{N-1} \left[\frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} D_1 L_{d_k} + \frac{q_k - q_{k-1}}{\tau_k - \tau_{k-1}} D_3 L_{d_{k-1}} \right] \delta q_k + \sum_{k=0}^{N-1} \left(g(\mathfrak{q}_k) - \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} \right) \delta \lambda_k. \end{aligned}$$

As a consequence, if

$$\frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} D_2 L_{d_k} - \frac{1}{\tau_{k+1} - \tau_k} L_{d_k} + \frac{q_k - q_{k-1}}{\tau_k - \tau_{k-1}} D_4 L_{d_{k-1}} + \frac{1}{\tau_k - \tau_{k-1}} L_{d_{k-1}} = \frac{\lambda_{k-1}}{\tau_k - \tau_{k-1}} - \frac{\lambda_k}{\tau_{k+1} - \tau_k} - \lambda_k \nabla g(q_k),$$

$$\frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} D_1 L_d(q_k, q_k, q_{k+1}, q_{k+1}) + \frac{q_k - q_{k-1}}{\tau_k - \tau_{k-1}} D_3 L_d(q_{k-1}, q_{k-1}, q_k, q_k) = 0,$$

$$q_{k+1} = q_k + (\tau_{k+1} - \tau_k) g(q_k),$$

then $\delta \tilde{\mathfrak{E}}_d(\{(q_k, q_k, \lambda_k)\}_{k=0}^N) = 0$.

Conversely, if $\delta \tilde{\mathfrak{E}}_d(\{(q_k, q_k, \lambda_k)\}_{k=0}^N) = 0$, then a discrete fundamental theorem of the calculus of variations yields the above equations. \square

C. Proof of Theorem 5.1

Theorem C.1. *The Type I discrete Hamilton's variational principle,*

$$\delta \tilde{\mathfrak{E}}_d(\{(q_k, q_k, \lambda_k)\}_{k=0}^N) = 0,$$

where,

$$\tilde{\mathfrak{E}}_d(\{(q_k, q_k, \lambda_k)\}_{k=0}^N) = \sum_{k=0}^{N-1} \left[L_d(q_k, f_k, q_k, q_{k+1}) - \lambda_k \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} + \lambda_k g(q_k) \right] \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k},$$

is equivalent to the discrete extended Euler–Lagrange equations,

$$q_{k+1} = q_k + (\tau_{k+1} - \tau_k) g(q_k),$$

$$\text{Ad}_{f_k}^* (\mathbb{T}_e^* \mathbb{L}_{f_k} D_2 L_{d_k}) = \mathbb{T}_e^* \mathbb{L}_{q_k} D_1 L_{d_k} + \frac{\tau_{k+1} - \tau_k}{q_{k+1} - q_k} \frac{q_k - q_{k-1}}{\tau_k - \tau_{k-1}} \mathbb{T}_e^* \mathbb{L}_{f_{k-1}} D_2 L_{d_{k-1}},$$

$$\begin{aligned} & \left[D_3 L_{d_k} + \lambda_k \frac{1}{\tau_{k+1} - \tau_k} + \lambda_k \nabla g(q_k) \right] \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} - \frac{1}{\tau_{k+1} - \tau_k} \left[L_{d_k} - \lambda_k \frac{q_{k+1} - q_k}{\tau_{k+1} - \tau_k} + \lambda_k g(q_k) \right] \\ & + \left[D_4 L_{d_k} - \lambda_{k-1} \frac{1}{\tau_k - \tau_{k-1}} \right] \frac{q_k - q_{k-1}}{\tau_k - \tau_{k-1}} + \frac{1}{\tau_k - \tau_{k-1}} \left[L_{d_{k-1}} - \lambda_{k-1} \frac{q_k - q_{k-1}}{\tau_k - \tau_{k-1}} + \lambda_{k-1} g(q_{k-1}) \right] = 0, \end{aligned}$$

where L_{d_k} denotes $L_d(q_k, f_k, q_k, q_{k+1})$.

Proof. We will use the notation $L_{d_k} = L_d(q_k, f_k, q_k, q_{k+1})$, and we will use the boundary conditions

$$\delta q_0 = \delta q_N = \delta q_0 = \delta q_N = \eta_0 = \eta_N = 0$$

throughout the proof.

We have

$$\begin{aligned}
\delta \bar{\mathcal{E}}_d \left(\{(q_k, \mathfrak{q}_k, \lambda_k)\}_{k=0}^N \right) &= \delta \left(\sum_{k=0}^{N-1} \left[L_d(q_k, f_k, \mathfrak{q}_k, \mathfrak{q}_{k+1}) - \lambda_k \frac{\mathfrak{q}_{k+1} - \mathfrak{q}_k}{\tau_{k+1} - \tau_k} + \lambda_k g(\mathfrak{q}_k) \right] \frac{\mathfrak{q}_{k+1} - \mathfrak{q}_k}{\tau_{k+1} - \tau_k} \right) \\
&= \sum_{k=1}^{N-1} \left[D_3 L_{d_k} + \lambda_k \frac{1}{\tau_{k+1} - \tau_k} + \lambda_k \nabla g(\mathfrak{q}_k) \right] \frac{\mathfrak{q}_{k+1} - \mathfrak{q}_k}{\tau_{k+1} - \tau_k} \delta \mathfrak{q}_k \\
&\quad - \sum_{k=1}^{N-1} \frac{1}{\tau_{k+1} - \tau_k} \left[L_{d_k} - \lambda_k \frac{\mathfrak{q}_{k+1} - \mathfrak{q}_k}{\tau_{k+1} - \tau_k} + \lambda_k g(\mathfrak{q}_k) \right] \delta \mathfrak{q}_k \\
&\quad + \sum_{k=0}^{N-2} \left[D_4 L_{d_k} - \lambda_k \frac{1}{\tau_{k+1} - \tau_k} \right] \frac{\mathfrak{q}_{k+1} - \mathfrak{q}_k}{\tau_{k+1} - \tau_k} \delta \mathfrak{q}_{k+1} \\
&\quad + \sum_{k=0}^{N-2} \frac{1}{\tau_{k+1} - \tau_k} \left[L_{d_k} - \lambda_k \frac{\mathfrak{q}_{k+1} - \mathfrak{q}_k}{\tau_{k+1} - \tau_k} + \lambda_k g(\mathfrak{q}_k) \right] \delta \mathfrak{q}_{k+1} \\
&\quad + \sum_{k=1}^{N-1} \frac{\mathfrak{q}_{k+1} - \mathfrak{q}_k}{\tau_{k+1} - \tau_k} D_1 L_{d_k} \delta q_k \\
&\quad + \sum_{k=0}^{N-1} \frac{\mathfrak{q}_{k+1} - \mathfrak{q}_k}{\tau_{k+1} - \tau_k} D_2 L_{d_k} \delta f_k \\
&\quad + \sum_{k=0}^{N-1} \frac{\mathfrak{q}_{k+1} - \mathfrak{q}_k}{\tau_{k+1} - \tau_k} \left(g(\mathfrak{q}_k) - \frac{\mathfrak{q}_{k+1} - \mathfrak{q}_k}{\tau_{k+1} - \tau_k} \right) \delta \lambda_k.
\end{aligned}$$

We can write δg_k as $\delta g_k = g_k \eta_k$ for some $\eta_k \in \mathfrak{g}$. Then, taking the variation of the discrete kinematics equation $q_{k+1} = q_k f_k$ gives the equation $\delta q_{k+1} = \delta q_k f_k + q_k \delta f_k$ and $f_k = q_k^{-1} q_{k+1}$. As a consequence,

$$\delta f_k = q_k^{-1} \delta q_{k+1} - q_k^{-1} \delta q_k f_k = q_k^{-1} q_{k+1} \eta_{k+1} - q_k^{-1} q_k \eta_k f_k = f_k \eta_{k+1} - \eta_k f_k,$$

so

$$\begin{aligned}
\delta \bar{\mathcal{E}}_d \left(\{(q_k, \mathfrak{q}_k, \lambda_k)\}_{k=0}^N \right) &= \sum_{k=1}^{N-1} \left[D_3 L_{d_k} + \lambda_k \frac{1}{\tau_{k+1} - \tau_k} + \lambda_k \nabla g(\mathfrak{q}_k) \right] \frac{\mathfrak{q}_{k+1} - \mathfrak{q}_k}{\tau_{k+1} - \tau_k} \delta \mathfrak{q}_k \\
&\quad - \sum_{k=1}^{N-1} \frac{1}{\tau_{k+1} - \tau_k} \left[L_{d_k} - \lambda_k \frac{\mathfrak{q}_{k+1} - \mathfrak{q}_k}{\tau_{k+1} - \tau_k} + \lambda_k g(\mathfrak{q}_k) \right] \delta \mathfrak{q}_k \\
&\quad + \sum_{k=1}^{N-1} \left(D_4 L_{d_{k-1}} - \lambda_{k-1} \frac{1}{\tau_k - \tau_{k-1}} \right) \frac{\mathfrak{q}_k - \mathfrak{q}_{k-1}}{\tau_k - \tau_{k-1}} \delta \mathfrak{q}_k \\
&\quad + \sum_{k=1}^{N-1} \frac{1}{\tau_k - \tau_{k-1}} \left(L_{d_{k-1}} - \lambda_{k-1} \frac{\mathfrak{q}_k - \mathfrak{q}_{k-1}}{\tau_k - \tau_{k-1}} + \lambda_{k-1} g(\mathfrak{q}_{k-1}) \right) \delta \mathfrak{q}_k \\
&\quad + \sum_{k=1}^{N-1} \frac{\mathfrak{q}_{k+1} - \mathfrak{q}_k}{\tau_{k+1} - \tau_k} \left(\mathbb{T}_e^* L_{q_k} D_1 L_{d_k} \bullet \eta_k \right) \\
&\quad + \sum_{k=0}^{N-1} \frac{\mathfrak{q}_{k+1} - \mathfrak{q}_k}{\tau_{k+1} - \tau_k} \left(\mathbb{T}_e^* L_{f_k} D_2 L_{d_k} \bullet [\eta_{k+1} - f_k^{-1} \eta_k f_k] \right) \\
&\quad + \sum_{k=0}^{N-1} \frac{\mathfrak{q}_{k+1} - \mathfrak{q}_k}{\tau_{k+1} - \tau_k} \left(g(\mathfrak{q}_k) - \frac{\mathfrak{q}_{k+1} - \mathfrak{q}_k}{\tau_{k+1} - \tau_k} \right) \delta \lambda_k.
\end{aligned}$$

Then,

$$\begin{aligned}
\delta \bar{\mathfrak{E}}_d(\{(q_k, \mathfrak{q}_k, \lambda_k)\}_{k=0}^N) &= \sum_{k=1}^{N-1} \left[D_3 L_{d_k} + \lambda_k \frac{1}{\tau_{k+1} - \tau_k} + \lambda_k \nabla g(\mathfrak{q}_k) \right] \frac{\mathfrak{q}_{k+1} - \mathfrak{q}_k}{\tau_{k+1} - \tau_k} \delta \mathfrak{q}_k \\
&\quad - \sum_{k=1}^{N-1} \frac{1}{\tau_{k+1} - \tau_k} \left[L_{d_k} - \lambda_k \frac{\mathfrak{q}_{k+1} - \mathfrak{q}_k}{\tau_{k+1} - \tau_k} + \lambda_k g(\mathfrak{q}_k) \right] \delta \mathfrak{q}_k \\
&\quad + \sum_{k=1}^{N-1} \left(D_4 L_{d_{k-1}} - \lambda_{k-1} \frac{1}{\tau_k - \tau_{k-1}} \right) \frac{\mathfrak{q}_k - \mathfrak{q}_{k-1}}{\tau_k - \tau_{k-1}} \delta \mathfrak{q}_k \\
&\quad + \sum_{k=1}^{N-1} \frac{1}{\tau_k - \tau_{k-1}} \left(L_{d_{k-1}} - \lambda_{k-1} \frac{\mathfrak{q}_k - \mathfrak{q}_{k-1}}{\tau_k - \tau_{k-1}} + \lambda_{k-1} g(\mathfrak{q}_{k-1}) \right) \delta \mathfrak{q}_k \\
&\quad + \sum_{k=1}^{N-1} \frac{\mathfrak{q}_{k+1} - \mathfrak{q}_k}{\tau_{k+1} - \tau_k} (\mathbb{T}_e^* L_{q_k} D_1 L_{d_k} \bullet \eta_k) \\
&\quad + \sum_{k=0}^{N-1} \frac{\mathfrak{q}_{k+1} - \mathfrak{q}_k}{\tau_{k+1} - \tau_k} \left(g(\mathfrak{q}_k) - \frac{\mathfrak{q}_{k+1} - \mathfrak{q}_k}{\tau_{k+1} - \tau_k} \right) \delta \lambda_k \\
&\quad + \sum_{k=0}^{N-1} \frac{\mathfrak{q}_k - \mathfrak{q}_{k-1}}{\tau_k - \tau_{k-1}} (\mathbb{T}_e^* L_{f_{k-1}} D_2 L_{d_{k-1}} \bullet \eta_k) \\
&\quad - \sum_{k=0}^{N-1} \frac{\mathfrak{q}_{k+1} - \mathfrak{q}_k}{\tau_{k+1} - \tau_k} (\mathbb{T}_e^* L_{f_k} D_2 L_{d_k} \bullet \text{Ad}_{f_k^{-1}} \eta_k).
\end{aligned}$$

As a consequence, if

$$\mathfrak{q}_{k+1} = \mathfrak{q}_k + (\tau_{k+1} - \tau_k) g(\mathfrak{q}_k),$$

$$\text{Ad}_{f_k^{-1}}^* (\mathbb{T}_e^* L_{f_k} D_2 L_{d_k}) = \mathbb{T}_e^* L_{q_k} D_1 L_{d_k} + \frac{\tau_{k+1} - \tau_k}{\mathfrak{q}_{k+1} - \mathfrak{q}_k} \frac{\mathfrak{q}_k - \mathfrak{q}_{k-1}}{\tau_k - \tau_{k-1}} \mathbb{T}_e^* L_{f_{k-1}} D_2 L_{d_{k-1}},$$

$$\begin{aligned}
&\left[D_3 L_{d_k} + \lambda_k \frac{1}{\tau_{k+1} - \tau_k} + \lambda_k \nabla g(\mathfrak{q}_k) \right] \frac{\mathfrak{q}_{k+1} - \mathfrak{q}_k}{\tau_{k+1} - \tau_k} - \frac{1}{\tau_{k+1} - \tau_k} \left[L_{d_k} - \lambda_k \frac{\mathfrak{q}_{k+1} - \mathfrak{q}_k}{\tau_{k+1} - \tau_k} + \lambda_k g(\mathfrak{q}_k) \right] \\
&\quad + \left[D_4 L_{d_k} - \lambda_{k-1} \frac{1}{\tau_k - \tau_{k-1}} \right] \frac{\mathfrak{q}_k - \mathfrak{q}_{k-1}}{\tau_k - \tau_{k-1}} + \frac{1}{\tau_k - \tau_{k-1}} \left[L_{d_{k-1}} - \lambda_{k-1} \frac{\mathfrak{q}_k - \mathfrak{q}_{k-1}}{\tau_k - \tau_{k-1}} + \lambda_{k-1} g(\mathfrak{q}_{k-1}) \right] = 0,
\end{aligned}$$

then $\delta \bar{\mathfrak{E}}_d(\{(q_k, \mathfrak{q}_k, \lambda_k)\}_{k=0}^N) = 0$. Conversely, if $\delta \bar{\mathfrak{E}}_d(\{(q_k, \mathfrak{q}_k, \lambda_k)\}_{k=0}^N) = 0$, then a discrete fundamental theorem of the calculus of variations yields the above equations. \square



AIMS Press

©2023 the Author(s), licensee AIMS Press. This is an open access article distributed under the terms of the Creative Commons Attribution License (<http://creativecommons.org/licenses/by/4.0>)